
MATHS

BOOKS - MODERN PUBLICATION

LINEAR EQUATIONS IN TWO

VARIABLES

Example

1. Write each of the following linear equations

in the form

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qwxRTzCfDMfp


ax+by+c=0 and indicate the value of a,b and c

in each case

3x+4y=5.27

Watch Video Solution

2. Write each of the following linear equations

in the form

ax+by+c=0 and indicate the value of a,b and c

in each case

Watch Video Solution

x − 5 = √3y

https://dl.doubtnut.com/l/_qwxRTzCfDMfp
https://dl.doubtnut.com/l/_5M2PG5J9nPnd


3. Write each of the following linear equations

in the form

ax+by+c=0 and indicate the value of a,b and c

in each case

5=6x-7y

Watch Video Solution

4. Write each of the following linear equations

in the form

ax+by+c=0 and indicate the value of a,b and c

https://dl.doubtnut.com/l/_5M2PG5J9nPnd
https://dl.doubtnut.com/l/_tmlixhgAjR51
https://dl.doubtnut.com/l/_S4dg8DJCi2SX


in each case

3x=y

Watch Video Solution

5. Check which of the following are solutions

of the equations 2x-y=4 and which are not:

(0,-4)

Watch Video Solution

https://dl.doubtnut.com/l/_S4dg8DJCi2SX
https://dl.doubtnut.com/l/_YlSAnS7heg28


6. Check which of the following are solutions

of the equations 2x-y=4 and which are not:

(3,0)

Watch Video Solution

7. Check which of the following are solutions

of the equations 2x-y=4 and which are not:

(3,2)

Watch Video Solution

https://dl.doubtnut.com/l/_SlWbUmlygsrW
https://dl.doubtnut.com/l/_eHRhjqvPL8K6
https://dl.doubtnut.com/l/_OnmvW9RstsjF


8. Check which of the following are solutions

of the equations 2x-y=4 and which are not:

(2,2)

Watch Video Solution

9. Find four different solutions of the

equations

2x+y=6

Watch Video Solution

https://dl.doubtnut.com/l/_OnmvW9RstsjF
https://dl.doubtnut.com/l/_BdaFaKDMg8nU
https://dl.doubtnut.com/l/_Ncf2mJd6yd5H


10. If x=2,y=1 is a solution 3x+2y=k, find the

value of k.

Watch Video Solution

11. If x=2k-1 and y=k is a solution of the 3x-5y-

9=0 find the value of k.

Watch Video Solution

12. Find the solutions of form 

and  for the following pairs of

x = a, y = 0

x = 0, y = b

https://dl.doubtnut.com/l/_Ncf2mJd6yd5H
https://dl.doubtnut.com/l/_J5KAEHkGJAVN
https://dl.doubtnut.com/l/_KbZGaPPxTgyO


equations. Do they have any common such

solution ?  and .

Watch Video Solution

7x + 3y = 42 2x + 5y = 12

13. Draw the graph of the equations y-x=3.

Watch Video Solution

14. Draw graph of the equations 2x+3y=11 from

the graph, find the value of y, when x=2.

Watch Video Solution

https://dl.doubtnut.com/l/_KbZGaPPxTgyO
https://dl.doubtnut.com/l/_N8iQB8m4laC2
https://dl.doubtnut.com/l/_E8uVu6ohnhMa


15. Draw the graphs of 3x-2y=4 and x+y-3=0 in

the same graph. Also, find the point of

intersection of these lines.

Watch Video Solution

16. Draw the graph of the equations x+2y=8

form the graph, check whether (-1,-2) is a

solution of equations.

Watch Video Solution

https://dl.doubtnut.com/l/_E8uVu6ohnhMa
https://dl.doubtnut.com/l/_ZbxHVHspJH3X
https://dl.doubtnut.com/l/_Hn2zYgqmg6ax


17. Draw the graph for 4x-3y=12 and determine

the

points of intersection of this line with the

coordinate of axes.

Watch Video Solution

18. Draw the graph for 4x-3y=12 and determine

the

area of the triangle bounded by this line and

ordinates areas.

https://dl.doubtnut.com/l/_Hn2zYgqmg6ax
https://dl.doubtnut.com/l/_xwryK0Ps2zpl
https://dl.doubtnut.com/l/_AlhvpZfULQDc


Watch Video Solution

19. Cost of 7 pens and 8 pencils is Rs 87 and

cost of 6 pens and 4 pencils is Rs 66. write

linear equations representing the above data.

Also, find the cost of 1 pen and 1 pencil.

Watch Video Solution

20. The taxi fare in a city is as follows : For the

first kilometre, the fare is Rs.8 and for the

https://dl.doubtnut.com/l/_AlhvpZfULQDc
https://dl.doubtnut.com/l/_Q8R0WWUGaXDC
https://dl.doubtnut.com/l/_yCrP1zR8qpQs


subsequent distance it is Rs.5 per kilometre.

Taking the distance covered as x km and total

fare as Rs.y, write a linear equation for this

information and draw its graph.

Watch Video Solution

21. Draw the graph of each of the following:

y=0

Watch Video Solution

https://dl.doubtnut.com/l/_yCrP1zR8qpQs
https://dl.doubtnut.com/l/_5ElZTDePrGTe


22. Draw the graph of each of the following:

x=3

Watch Video Solution

23. Draw the graph of each of the following:

y=4

Watch Video Solution

https://dl.doubtnut.com/l/_Zm0x8cSsiPYD
https://dl.doubtnut.com/l/_CJ6ZVDzOPSa8


24. Draw the graph of each of the following:

x+3=0

Watch Video Solution

25. Draw the graph of each of the following:

y+2=0

Watch Video Solution

https://dl.doubtnut.com/l/_RTGM0gj8rz8C
https://dl.doubtnut.com/l/_yJDCE1LSIntD


26. Draw the graph of the linear equations

2x+4=3x+1

Watch Video Solution

27. Draw the graph of the linear equations

2y+3=9

Watch Video Solution

https://dl.doubtnut.com/l/_6PO9UcD8IT4F
https://dl.doubtnut.com/l/_r5dpYLvQ6xUc


28. Solve the equation 2x + 1 = x - 3, and

represent the solution(s) on (i) the number

line, (ii) the Cartesian plane.

Watch Video Solution

29. Solve the equation 2x + 1 = x - 3, and

represent the solution(s) on (i) the number

line, (ii) the Cartesian plane.

Watch Video Solution

https://dl.doubtnut.com/l/_MktpyUjxjqeW
https://dl.doubtnut.com/l/_0uzjSD9zacKG
https://dl.doubtnut.com/l/_WaufwEvmS9RB


30. Two numbers are such that greater of two

is 5 less than twice of the smaller. Express this

information in equatins form.

Watch Video Solution

31. If a driver drives at the rate of 32 km/h, he

reaches his destinatin 7 minutes late. If the

drives at the rate of 35km/h he reaches 4

minutes earlier. How far is his destination?

Watch Video Solution

https://dl.doubtnut.com/l/_WaufwEvmS9RB
https://dl.doubtnut.com/l/_z9MFfq5YYJrO


32. In a company a man invested Rs 38000, a

part of it at an annual interest of 10% and rest

at a rate of 15%. If he received a total intereset

of Rs 5500, how much did he invest in each

plane

Watch Video Solution

33. The perimeter of a rectangle is 632 m.

express this information in the form of a linear

equaiton in two variables.

https://dl.doubtnut.com/l/_QnIPq935MS8F
https://dl.doubtnut.com/l/_lCfhlI1acCNh


Watch Video Solution

34. On her birthday Shushma distributed

ladoos in an orphanage.she gave 2 ladoos to

each child and 50 ladoos to adult. Taking

number of children as x and total ladoos

distributed as y:

What values are shown by Shushma?

Watch Video Solution

https://dl.doubtnut.com/l/_lCfhlI1acCNh
https://dl.doubtnut.com/l/_hqpwJ4VDxEVz


35. On her birthday Shushma distributed

ladoos in an orphanage. She gave 2 ladoos to

each child and 50 ladoos to adult. Taking

number of children as x and total ladoos

distributed as y:

If she distributed 132 ladoos in all, then find

the number of children in the orphanage.

Watch Video Solution

https://dl.doubtnut.com/l/_HSwIlhO9GLbP


36. On her birthday Shushma distributed

ladoos in an orphanage.she gave 2 ladoos to

each child and 50 ladoos to adult. Taking

number of children as x and total ladoos

distributed as y:

What values are shown by Shushma?

Watch Video Solution

37. Rajesh and Kunal, two students of class,

together contributed Rs 100 for old age home

https://dl.doubtnut.com/l/_Mcgs6XKle9al
https://dl.doubtnut.com/l/_bjxxOcCTsJ9D


to help old people left by their children. Write

a linear eqution, which satisfies the data.

Watch Video Solution

38. The cost of a notebook is twice the cost of

a pen. Write a linear equation in two variables

to represent this statement.

Watch Video Solution

https://dl.doubtnut.com/l/_bjxxOcCTsJ9D
https://dl.doubtnut.com/l/_HBSkItyADKfS


39. Express the following linear equations in

the form ax+by+c=0 and indicate the values of

a,b and c in each case

Watch Video Solution

2x + 3y = 9. ¯̄̄¯35

40. Express the following linear equations in

the form ax+by+c=0 and indicate the values of

a,b and c in each case

x − − 10 = 0
y

5

https://dl.doubtnut.com/l/_P32ZicRUU5Ah
https://dl.doubtnut.com/l/_65P4qs1dpdT5


Watch Video Solution

41. Express the following linear equations in

the form ax+by+c=0 and indicate the values of

a,b and c in each case

Watch Video Solution

−2x + 3y = 6

42. Express the following linear equations in

the form ax+by+c=0 and indicate the values of

https://dl.doubtnut.com/l/_65P4qs1dpdT5
https://dl.doubtnut.com/l/_SPfFUTdVvdJb
https://dl.doubtnut.com/l/_n4nedL7jGTq6


a,b and c in each case

x=3y

Watch Video Solution

43. Express the following linear equation in

the form ax + by + c = 0 and indicate the

values of a, b and c in each case. .

Watch Video Solution

2x = − 5y

https://dl.doubtnut.com/l/_n4nedL7jGTq6
https://dl.doubtnut.com/l/_Mo2iJgcctsOP


44. Express the following linear equations in

the form ax+by+c=0 and indicate the values of

a,b and c in each case

3x+2y=4

Watch Video Solution

45. Express the following linear equation in

the form ax + by + c = 0 and indicate the

values of a, b and c in each case. .

Watch Video Solution

y − 2 = 0

https://dl.doubtnut.com/l/_ScL7WEDKJdTk
https://dl.doubtnut.com/l/_EdW8O6BetHyG


46. Express the following linear equations in

the form ax+by+c=0 and indicate the values of

a,b and c in each case

5=2x

Watch Video Solution

47. Which one of the following option is true

and why?

y=3x+5 has: a unique solution?

Watch Video Solution

https://dl.doubtnut.com/l/_EdW8O6BetHyG
https://dl.doubtnut.com/l/_PgjHn9akV9iq
https://dl.doubtnut.com/l/_2Kid9xypU36A


48. Which one of the following option is true

and why?

y=3x+5 has: only two solutions.

Watch Video Solution

49. Which one of the following option is true

and why ?  has

Watch Video Solution

y = 3x + 5

https://dl.doubtnut.com/l/_2Kid9xypU36A
https://dl.doubtnut.com/l/_5qgiYVaJcSnc
https://dl.doubtnut.com/l/_xzbSp5tv70Dy
https://dl.doubtnut.com/l/_ldSFRIL3Juol


50. Write four solutions for each of the

following equations:

Watch Video Solution

3x + 4y = 7

51. Write four solutions for each of the

following equations:

Watch Video Solution

x + πy = 4

https://dl.doubtnut.com/l/_ldSFRIL3Juol
https://dl.doubtnut.com/l/_hZZuJ8K9KAtC
https://dl.doubtnut.com/l/_Io6KDjIT8eHt


52. Write four solutions for each of the

following equations: 

Watch Video Solution

x = 4y

53. Check whether of the following are

solutions of the equations x-2y=4 and which

are not?

(0,2)

Watch Video Solution

https://dl.doubtnut.com/l/_Io6KDjIT8eHt
https://dl.doubtnut.com/l/_L3iEgOy4LCZI


54. Check whether of the following are

solutions of the equations x-2y=4 and which

are not?

(2,0)

Watch Video Solution

55. Check whether of the following are

solutions of the equations x-2y=4 and which

are not?

(4,0)

https://dl.doubtnut.com/l/_tiZcgLDvlGwZ
https://dl.doubtnut.com/l/_wUKQIjZN8oki


Watch Video Solution

56. Check whether of the following are

solutions of the equations x-2y=4 and which

are not?

Watch Video Solution

(√2, 4√2)

57. Check whether of the following are

solutions of the equations x-2y=4 and which

https://dl.doubtnut.com/l/_wUKQIjZN8oki
https://dl.doubtnut.com/l/_6WzOB05SQAve
https://dl.doubtnut.com/l/_4ZBL6idy4WXK


are not?

(1,1)

Watch Video Solution

58. Draw the graph of each of the following

linear equations in two variables:

x+y=4

Watch Video Solution

https://dl.doubtnut.com/l/_4ZBL6idy4WXK
https://dl.doubtnut.com/l/_TxN3y8p7J82E


59. Draw the graph of each of the following

linear equations in two variables: 

Watch Video Solution

x– y = 2

60. Draw the graph of each of the following

linear equations in two variables: 

Watch Video Solution

y = 3x

https://dl.doubtnut.com/l/_xfrerBWQXJeE
https://dl.doubtnut.com/l/_vvJKBWrhspQt


61. Draw the graph of each of the following

linear equations in two variables: 

Watch Video Solution

3 = 2x + y

62. Give the equations of two lines passing

through (2, 14). How many more such lines are

there, and why?

Watch Video Solution

https://dl.doubtnut.com/l/_dmL1H09yOlcP
https://dl.doubtnut.com/l/_qPr4ip1QDXTN


63. If the point (3, 4) lies on the graph of the

equation , find the value of a.

Watch Video Solution

3y = ax + 7

64. The taxi fare in a city is as follows : For the

first kilometre, the fare is Rs.8 and for the

subsequent distance it is Rs.5 per kilometre.

Taking the distance covered as x km and total

fare as Rs.y, write a linear equation for this

information and draw its graph.

https://dl.doubtnut.com/l/_jymruJk7M4qA
https://dl.doubtnut.com/l/_3V1sqoiA8a2Y


Watch Video Solution

65. From the choices given below, choose the

equation whose graphs are given :-For Fig. 4. 6

Watch Video Solution

https://dl.doubtnut.com/l/_3V1sqoiA8a2Y
https://dl.doubtnut.com/l/_j9nGfJtb5i7Y


66. If the work done by a body on application

of a constant force is directly proportional to

the distance travelled by the body, express this

in the form of an equation in two variables

and draw the graph of the same by taking the

constant force as 5 units. Also read from the

graph the work done when the distance

travelled by the body is :-2 units

Watch Video Solution

https://dl.doubtnut.com/l/_j9nGfJtb5i7Y
https://dl.doubtnut.com/l/_jPkpAbxu69xU


67. If the work done by a body on application

of a constant force is directly proportional to

the distance travelled by the body, express this

in the form of an equation in two variables

and draw the graph of the same by taking the

constant force as 6 units. Also read from the

graph the work done when the distance

travelled by the body is:- 0 unit

Watch Video Solution

https://dl.doubtnut.com/l/_epFc7OW27yWh


68. Yamini and Fatima, two students of Class IX

of a school, together contributed ₹ 100

towards the Prime Minister’s Relief Fund to

help the earthquake victims. Write a linear

equation which satisfies this data. (You may

take their contributions as ₹ x and ₹ y.) Draw

the graph of the same.

Watch Video Solution

https://dl.doubtnut.com/l/_cMKXdUosd9gK


69. In countries like USA and Canada,

temperature is measured in Fahrenheit,

whereas in countries like India, it is measured

in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:

 Draw the graph of the

linear equation above using Celsius for x-axis

and Fahrenheit for y-axis.

Watch Video Solution

F = ( )C + 32
9

5

https://dl.doubtnut.com/l/_69lzo0z4n49J


70. In countries like the USA and Canada,

temperature is measured in Fahrenheti

whereas in countries like India it is measured

in Celsius. Here is alinear equation that

converts Fahrenheit to Celsius:




If the tempearature is , what is the

temperature in Fahrenheit?

Watch Video Solution

F = ( )C + 32
9

5

30∘ C

https://dl.doubtnut.com/l/_XOo6osHybOMW


71. In countries like the USA and Canada,

temperature is measured in Fahrenheti

whereas in countries like India it is measured

in Celsius. Here is alinear equation that

converts Fahrenheit to Celsius:




If the temperature is , what is the

temperature in Celsius?

Watch Video Solution

F = ( )C + 32
9

5

95∘ F

https://dl.doubtnut.com/l/_rG5Uy3XGatYu


72. In countries like USA and Canada,

temperature is measured in Fahrenheit,

whereas in countries like India, it is measured

in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:

 Is there a temperature

which is numerically the same in both

Fahrenheit and
Celsius? If yes, find it.

Watch Video Solution

F = ( )C + 32
9

5

https://dl.doubtnut.com/l/_ovI2so0ShXy0


73. In countries like USA and Canada,

temperature is measured in Fahrenheit,

whereas in countries like India, it is measured

in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:

 If the temperature is ,

what is the temperature in Fahrenheit and if

the
 temperature is , what is the

temperature in Celsius?

Watch Video Solution

F = ( )C + 32
9

5
0∘ C

0∘ F

https://dl.doubtnut.com/l/_6IY0kbauUC13
https://dl.doubtnut.com/l/_48Pmakj37bi9


74. Give the geometric representation of y = 3

as an equation in one variable.

Watch Video Solution

75. Give the geometric representation of y = 3

as an equation in two variables.

Watch Video Solution

76. Give the geometric representation of

 as an equation in one variable.2x + 9 = 0

https://dl.doubtnut.com/l/_48Pmakj37bi9
https://dl.doubtnut.com/l/_vGkRF1OD9k0i
https://dl.doubtnut.com/l/_mgOkvMx6GESv


Watch Video Solution

77. Give the geometric representation of

 as an equation in two variable.

Watch Video Solution

2x + 9 = 0

78. Write whether the following statement is

True or False ? Justify your answers : The point

(0, 3) lies on the graph of the linear equation

.3x + 4y = 12

https://dl.doubtnut.com/l/_mgOkvMx6GESv
https://dl.doubtnut.com/l/_DKwlmhXPaMqv
https://dl.doubtnut.com/l/_KdFhw4MakyXo


Watch Video Solution

79. Write whether the following statement is

True or False ? Justify your answers : The graph

of the linear equation  passes

through the point (0, 7).

Watch Video Solution

x + 2y = 7

80. The grpah given below represents the

linear equations x+y=0

https://dl.doubtnut.com/l/_KdFhw4MakyXo
https://dl.doubtnut.com/l/_doaWKwCTnwMK
https://dl.doubtnut.com/l/_My3KzJ8mMQfu


Watch Video Solution

81. The graph is given below represents the

linear equations x=3.

https://dl.doubtnut.com/l/_My3KzJ8mMQfu
https://dl.doubtnut.com/l/_Sv5ImmsPdmEx


Watch Video Solution

https://dl.doubtnut.com/l/_Sv5ImmsPdmEx


82. The coordinates of points in the table:

represent some of the solutions of the

equations x+y+2=0

Watch Video Solution

83. Write whether the following statement is

True or False ? Justify your answers : Every

https://dl.doubtnut.com/l/_sXUMi9ecl5fY
https://dl.doubtnut.com/l/_q1jjKIwhIiaP


point on the graph of a linear equation in two

variables does not represent a solution of the

linear equation.

Watch Video Solution

84. Write whether the following statement is

True or False ? Justify your answers : The graph

of every linear equation in two variables need

not be a line.

Watch Video Solution

https://dl.doubtnut.com/l/_q1jjKIwhIiaP
https://dl.doubtnut.com/l/_mue4JfII33oM
https://dl.doubtnut.com/l/_PsBeBVD2edYt


85. Draw the graphs of linear equations of y=x

and y=-x on he same cartesian plane. What you

observe?

Watch Video Solution

86. Determine the point of the graph of the

line equations 2x+5y=19, whose ordinate is 3/2

times its abscissa.

Watch Video Solution

https://dl.doubtnut.com/l/_PsBeBVD2edYt
https://dl.doubtnut.com/l/_klewT9XA8Xct
https://dl.doubtnut.com/l/_Ssajiu2lKT9K


87. Draw the graph of the equations

represented by a straight line which is parallel

to the x-axis and at a distance of 3 units below

it.

Watch Video Solution

88. Draw the graph of the linear equations

whose solutions are represented by the points

having the sum of the coordinates as 10 units.

Watch Video Solution

https://dl.doubtnut.com/l/_Ssajiu2lKT9K
https://dl.doubtnut.com/l/_pDXrAsHDkSnP
https://dl.doubtnut.com/l/_jcJibuLMykvL


89. If the point (3, 4) lies on the graph of the

equation , find the value of a.

Watch Video Solution

3y = ax + 7

90. How many solutions of the equations

2x+1=x-3 are there on the:

number line?

Watch Video Solution

https://dl.doubtnut.com/l/_jcJibuLMykvL
https://dl.doubtnut.com/l/_yPknYnmOW6Vi


91. How many solutions of the equations

2x+1=x-3 are there on the:

number line?

Watch Video Solution

92. Find the solutions of the linear equations

 which represents a point on


-axis?

Watch Video Solution

x + 2y = 8

x

https://dl.doubtnut.com/l/_VpUnBTsGXoHG
https://dl.doubtnut.com/l/_R7bZi5c7FgR2
https://dl.doubtnut.com/l/_5QSZn9yspeNw


93. Find the solutions of the linear equations

x+2y=8 which represents a point on

y-axis?

Watch Video Solution

94. Write the linear equation such that each

point on its graph has an ordinate 3 times its

abscissa.

Watch Video Solution

https://dl.doubtnut.com/l/_5QSZn9yspeNw
https://dl.doubtnut.com/l/_680OMXxHOmoA
https://dl.doubtnut.com/l/_jIqg7GWIapcM


95. For what natural number c, the linear

equations 2x+cy=9 has equal values of x and y

for its solutions.

Watch Video Solution

96. Let y vary directly as x. if y=12 when x=4,

then write a linear equation, what is the value

of y when x=5?

Watch Video Solution

https://dl.doubtnut.com/l/_jIqg7GWIapcM
https://dl.doubtnut.com/l/_EiosqW7B899a


97. Show that the points

 lie on

the graph of the linear equation .

Watch Video Solution

A(1, 2), B( − 1, − 16) and C(0, − 7)

y = 9x − 7

98. The following observed values of x and y

are thought to satisfy a linear euations. Write

the linear equations.

https://dl.doubtnut.com/l/_zoy0ERQY2o7r
https://dl.doubtnut.com/l/_6Q6hcfofQsDM





Draw the graph using the values of x, y given

in the above table

At what points the graph of the linear

equations:

cuts the x-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_6Q6hcfofQsDM


99. The following observed values of x and y

are thought to satisfy a linear euations. Write

the linear equations.




Draw the graph using the values of x, y given

in the above table

At what points the graph of the linear

equations:

cuts the y-axis.

https://dl.doubtnut.com/l/_TEhKp4cIhiTh


Watch Video Solution

100. Draw the graph of the linear equations

3x+4y=6. At what points, the graph cuts x-axis

and y-axis.

Watch Video Solution

101. The linear equations that converts

Fahrenheit to Celsius is given to the relations:


C =
5F − 160

9

https://dl.doubtnut.com/l/_TEhKp4cIhiTh
https://dl.doubtnut.com/l/_dByoSXWcCWoy
https://dl.doubtnut.com/l/_iJwtQx19A6W0


If the temperature is , what is the

temperature in Celsius?

Watch Video Solution

86∘ F

102. The linear equations that converts

Fahrenheit to Celsius is given to the relations:




If the temperature is , what is the

temperature in Farenheit?

Watch Video Solution

C =
5F − 160

9

35∘ C

https://dl.doubtnut.com/l/_iJwtQx19A6W0
https://dl.doubtnut.com/l/_q5cb0MlttIUS
https://dl.doubtnut.com/l/_Yw1ALxbtc0Gw


103. The linear equations that converts

Fahrenheit to Celsius is given to the relations:




If the temperature is , what is the

temperature in Fahrenheit and f the

temperature is , what is the temperature

in Celsius?

Watch Video Solution

C =
5F − 160

9

0∘ C

0∘ F

104. The linear equations that converts

Fahrenheit to Celsius is given to the relations:

https://dl.doubtnut.com/l/_Yw1ALxbtc0Gw
https://dl.doubtnut.com/l/_gW1g1HPXgEQ1





What is the numerical value of the

temperature which is same in both the scales?

Watch Video Solution

C =
5F − 160

9

105. If the temperature of a liquid can be

measured in Kelvin units as  or in

Fahrenheit units as . The relation

between the two systems of measurement of

temperature is given by the linear equations

.

x ∘ K

y ∘ F

y = (x − 273) + 32
9

4

https://dl.doubtnut.com/l/_gW1g1HPXgEQ1
https://dl.doubtnut.com/l/_s5ZxJVLCliEO


Find the temperature of the liquid in

Fahrenheit if the temperature of the liquid is

.

Watch Video Solution

313∘ K

106. If the temperature of a liquid can be

measured in Kelvin units as  or in

Fahrenheit units as . The relation

between the two systems of measurement of

temperature is given by the linear equations

.

x ∘ K

y ∘ F

y = (x − 273) + 32
9

4

https://dl.doubtnut.com/l/_s5ZxJVLCliEO
https://dl.doubtnut.com/l/_ZrpvshyrTepo


If the temperature is , then find the

temperature is Kelvin?

Watch Video Solution

158∘ F

107. The force exerted to pull a cart is directly

proportional to the acceleration produced by

the body. Express the statement as a linear

equation of two variables and draw the graph

of the same by taking the constant mass equal

to 6kg. Read from a graph, the force required

https://dl.doubtnut.com/l/_ZrpvshyrTepo
https://dl.doubtnut.com/l/_RwIrh77Fm7oz


when the acceleration produced as:

Watch Video Solution

5
m

sec2

108. The force exerted to pull a cart is directly

proportional to the acceleration produced by

the body. Express the statement as a linear

equation of two variables and draw the graph

of the same by taking the constant mass equal

to 6kg. Read from a graph, the force required

https://dl.doubtnut.com/l/_RwIrh77Fm7oz
https://dl.doubtnut.com/l/_JGkgq2ll8zbs


Exercise

when the acceleration produced as:

Watch Video Solution

6
m

sec2

1. Check whether of the following are solutions

of the equaions 2x-y=8 and which are not:

(0,8)

Watch Video Solution

https://dl.doubtnut.com/l/_JGkgq2ll8zbs
https://dl.doubtnut.com/l/_FUAUrT9BQitv
https://dl.doubtnut.com/l/_vvk6xygCLi5x


2. Check whether of the following are

solutions of the equaions 2x-y=8 and which are

not:

(0,8)

Watch Video Solution

3. Check whether of the following are

solutions of the equaions 2x-y=8 and which are

not:

(1,-6)

https://dl.doubtnut.com/l/_vvk6xygCLi5x
https://dl.doubtnut.com/l/_842a7RQbvH0v


Watch Video Solution

4. Check whether of the following are

solutions of the equaions 2x-y=8 and which are

not:

(2,-3)

Watch Video Solution

5. Write four solutions for each of the

following equations:

x=6y?

https://dl.doubtnut.com/l/_842a7RQbvH0v
https://dl.doubtnut.com/l/_XiFJXYp4K9WN
https://dl.doubtnut.com/l/_BMSW0AJm3UA8


Watch Video Solution

6. Write four solutions for each of the

following equations:

Watch Video Solution

x + πy = 4

7. Write four solutions for each of the

following equations:

3x + 4y = 7

https://dl.doubtnut.com/l/_BMSW0AJm3UA8
https://dl.doubtnut.com/l/_ZxCEvnOUgZK2
https://dl.doubtnut.com/l/_9tSDJupfcYg1


Watch Video Solution

8. Write four solutions for each of the

following equations:

Watch Video Solution

x − y = 4
2

3

9. Find four different solutions of the equation

x + 2y = 6.

Watch Video Solution

https://dl.doubtnut.com/l/_9tSDJupfcYg1
https://dl.doubtnut.com/l/_PsUQlNaemNwx
https://dl.doubtnut.com/l/_eNJ4AYfY6AkE


10. If x=1,y-2 is a solution of 2x+3y=k, find the

value of k.

Watch Video Solution

11. If x=-k and  is a solution of x+4y-7=0

find the value of k.

Watch Video Solution

y =
5

2

https://dl.doubtnut.com/l/_utlMTkqeJJxq
https://dl.doubtnut.com/l/_qG9TzlVssQ1t


12. If x=1 and y=6 is a solution of 

find the value of k.

Watch Video Solution

8x − ky + k2

13. Write the two solutions in the form

x=0,y=a and x=b,y=0 for each of the following

equations

2x+3y=24

Watch Video Solution

https://dl.doubtnut.com/l/_tsiSBgYO41Ak
https://dl.doubtnut.com/l/_e0RRcC2xbxRq
https://dl.doubtnut.com/l/_7knTriI9fDWD


14. Write the two solutions in the form

x=0,y=a and x=b,y=0 for each of the following

equations

5x-2y=10

Watch Video Solution

15. Write the two solutions in the form

x=0,y=a and x=b,y=0 for each of the following

equations

4x-3y+12=0

Watch Video Solution

https://dl.doubtnut.com/l/_7knTriI9fDWD
https://dl.doubtnut.com/l/_qEyo9zATJTzb


16. Draw the graph of each of the following

equations

y=x

Watch Video Solution

17. Draw the graph of each of the following

equations

y=-x

Watch Video Solution

https://dl.doubtnut.com/l/_qEyo9zATJTzb
https://dl.doubtnut.com/l/_sDYTRlPSvlOX
https://dl.doubtnut.com/l/_ZExI7Gog5yxp


18. Draw the graph of each of the following

equations

y+2x=0

Watch Video Solution

19. Draw the graph of each of the following

equations

3x+5y=15

Watch Video Solution

https://dl.doubtnut.com/l/_ZExI7Gog5yxp
https://dl.doubtnut.com/l/_vPe1iO9uqkDg
https://dl.doubtnut.com/l/_tZgdsD13IRQA


20. Draw the graph of each of the following

equations

2x-3y=0

Watch Video Solution

21. Draw the graph of each of the following

equations

Watch Video Solution

− = 2
x

2

y

3

https://dl.doubtnut.com/l/_zObyVp3Ixnxg
https://dl.doubtnut.com/l/_J2zlZSS5PH8u
https://dl.doubtnut.com/l/_hehQ1kOk2qje


22. Draw the graph of the following y=4x, from

the graph find the value of y when x=-2.

Watch Video Solution

23. Draw the graph of the equations 2x+3y=6.

find the coordinates of the point, where the

graph cuts the y-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_hehQ1kOk2qje
https://dl.doubtnut.com/l/_GtB3snKgxMpw


24. Draw the graph of the line x-2y=3. from the

graph find the coordiates of the point when

x=0.

Watch Video Solution

25. Draw the graph of the line x-2y=3. from the

graph find the coordiates of the point when

y=-5

Watch Video Solution

https://dl.doubtnut.com/l/_6pLay12z9WGB
https://dl.doubtnut.com/l/_isofJQUOndSz
https://dl.doubtnut.com/l/_diELK4bA3t2j


26. Draw the graphs of 3x-2y=4 and x+y-3=0 in

the same graph. Also, find the point of

intersection of these lines.

Watch Video Solution

27. Draw the graph of the equations 6x+3y=4

and check whether:

x=2, y=5?

Watch Video Solution

https://dl.doubtnut.com/l/_diELK4bA3t2j
https://dl.doubtnut.com/l/_Q4vwXKVPUOw2
https://dl.doubtnut.com/l/_9F6Tbi0A1I5M


28. Draw the graph of the equations 6x+3y=4

and check whether:

x=-1, y=3.

Watch Video Solution

29. Draw the graphs of 3x-2y=4 and x+y-3=0 in

the same graph. Also, find the point of

intersection of these lines.

Watch Video Solution

https://dl.doubtnut.com/l/_9F6Tbi0A1I5M
https://dl.doubtnut.com/l/_s8Bd7OOSh7Os


30. From the choices given below, choose the

equations whose graph is given in the

following figure




A. 1) 

B. 2) 

x + y = 0

x − y = 0

https://dl.doubtnut.com/l/_3gLXCJek0CFt


C. 3) 

D. 4) 

Answer:

Watch Video Solution

2x + y = 0

x + 2y = 0

31. From the choices given below, choose the

equations whose graph is given in the

following figure

https://dl.doubtnut.com/l/_3gLXCJek0CFt
https://dl.doubtnut.com/l/_tfoO0gyLE2xe





y=2x

Watch Video Solution

32. From the choices given below, choose the

equations whose graph is given in the

https://dl.doubtnut.com/l/_tfoO0gyLE2xe
https://dl.doubtnut.com/l/_tkWwkWDwCSea


following figure




Watch Video Solution

33. From the choices given below, choose the

equations whose graph is given in the

https://dl.doubtnut.com/l/_tkWwkWDwCSea
https://dl.doubtnut.com/l/_t0ksab2EmokJ


following figure




Watch Video Solution

34. Draw the graph of equations .

Also find the area of the traingle formed by

+ = 1
x

3

y

4

https://dl.doubtnut.com/l/_t0ksab2EmokJ
https://dl.doubtnut.com/l/_TJKhhtC3i1w1


the line and the coordinate axes.

Watch Video Solution

35. Kavita and Kavia, two students of ClasS IX

of a school, together contributed Rs 100

towards Prime Minister's found to help flood

victims. Write a linear equatoins, which

satisfies this data and draw the graph of the

same.

Watch Video Solution

https://dl.doubtnut.com/l/_TJKhhtC3i1w1
https://dl.doubtnut.com/l/_95hVjyV8cHek
https://dl.doubtnut.com/l/_umisqWEkCJ8H


36. A number is 27 more than the number

obtained by reserving its digits. If its unis and

ten's digit are x and y respectively. Write the

linear equations representing the above

equations and draw its graph.

Watch Video Solution

37. Draw the graph of 2x+y=6 and 2x-y+2=0

shade the region bounded by these lines and

x-axis. Find the area of the shaded region.

Watch Video Solution

https://dl.doubtnut.com/l/_umisqWEkCJ8H
https://dl.doubtnut.com/l/_wtqiD6Z3CUoG


38. Draw the graphs of x-y=1 and 2x+y=8. shade

the region bouded by these lines and y-axis.

Find the area of the shaded region.

Watch Video Solution

39. Aftab tells his daughter, “Seven years ago, I

was seven times as old as you were then. Also,

three years from now, Ishall be three times as

old as you will be” (Isn’t this interesting ?).

https://dl.doubtnut.com/l/_wtqiD6Z3CUoG
https://dl.doubtnut.com/l/_vyGPoXWTNZnp
https://dl.doubtnut.com/l/_aGcx2jRY1tMw


Represent this situation algebraically and

graphically

Watch Video Solution

40. Draw the graph of each of the following:

x=3

Watch Video Solution

41. Draw the graph of each of the following:

y=4

https://dl.doubtnut.com/l/_aGcx2jRY1tMw
https://dl.doubtnut.com/l/_hoMlbOq6oFtM
https://dl.doubtnut.com/l/_s2HOg8Myn1Fs


Watch Video Solution

42. Draw the graph of each of the following:

y+2=0

Watch Video Solution

43. Draw the graph of each of the following:

x+3=0

Watch Video Solution

https://dl.doubtnut.com/l/_s2HOg8Myn1Fs
https://dl.doubtnut.com/l/_hqNDh5InSiBE
https://dl.doubtnut.com/l/_s1HZxsA5sHNb
https://dl.doubtnut.com/l/_KWWlMaeEB0jO


44. Draw the graph of the each of the

following,

2x+7=0

Watch Video Solution

45. Draw the graph of the each of the

following,

2y+5=0

Watch Video Solution

https://dl.doubtnut.com/l/_KWWlMaeEB0jO
https://dl.doubtnut.com/l/_cn1oaEtfHZ8N
https://dl.doubtnut.com/l/_ODsSfFWxtzPY


46. Give the geometric representation of

 as an equation in one variable.

Watch Video Solution

2x + 9 = 0

47. Give the geometric representation of

 as an equation in two variable.

Watch Video Solution

2x + 9 = 0

48. Write the equation of the line which is

parallel to x-axis and passing through

https://dl.doubtnut.com/l/_ODsSfFWxtzPY
https://dl.doubtnut.com/l/_0ZwlyWMtK0b7
https://dl.doubtnut.com/l/_snkHCLtc8R57


(0,2)

Watch Video Solution

49. Write the equation of the line which is

parallel to x-axis and passing through

(0,-3)

Watch Video Solution

50. Write the equation of the line which is

parallel to x-axis and passing through

https://dl.doubtnut.com/l/_snkHCLtc8R57
https://dl.doubtnut.com/l/_Tok2mtpINmbc
https://dl.doubtnut.com/l/_iGPG0r0z8i7o


(2,3)

Watch Video Solution

51. Write the equations of the line, which is

parallel to y-axis and passing through

(5,0)

Watch Video Solution

52. Write the equations of the line, which is

parallel to y-axis and passing through

https://dl.doubtnut.com/l/_iGPG0r0z8i7o
https://dl.doubtnut.com/l/_Y1qqYpOsZQE7
https://dl.doubtnut.com/l/_jE59naubdRk0


(-3,0)

Watch Video Solution

53. Write the equations of the line, which is

parallel to y-axis and passing through

(3,5)

Watch Video Solution

54. Solve the equations 3y+2=y-8 and

represent the solution in

https://dl.doubtnut.com/l/_jE59naubdRk0
https://dl.doubtnut.com/l/_9EWrHPD3AyoK
https://dl.doubtnut.com/l/_tq8Y0Alc41I5


the number line.

Watch Video Solution

55. Solve the equation 2x + 1 = x - 3, and

represent the solution(s) on (i) the number

line, (ii) the Cartesian plane.

Watch Video Solution

56. Write the equation of x-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_tq8Y0Alc41I5
https://dl.doubtnut.com/l/_nDnzjudydQPI
https://dl.doubtnut.com/l/_Um1jniuslcuE


57. Write he equations of y-axis.

Watch Video Solution

58. Write the equations of a line passing

through the point (0,3) and parallel to x-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_Um1jniuslcuE
https://dl.doubtnut.com/l/_d58q6XVsOCBB
https://dl.doubtnut.com/l/_VOadySWJOv4L


59. Write the equations of aline passing

through the point (4,6) and parallel to y-axis.

Watch Video Solution

60. A line passes through the point (-5,5) and

parallel to x-axis. Find its equation.

Watch Video Solution

https://dl.doubtnut.com/l/_Spno7IptbEeo
https://dl.doubtnut.com/l/_KqOFlUnFR5Xr


61. Express the  in the form

of ax+by+c=0

Watch Video Solution

+ − 5 = 0
2x

3

y

6

62. Write the equations of a line passing

through the point (0,3) and parallel to x-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_Y4hMYF9dB4M6
https://dl.doubtnut.com/l/_pkexLfuretys


63. For what value of k does the point (k,-3) lie

on the line 3x-y=6?

Watch Video Solution

64. If x=3 and y=-2 satisfy , then

find the value of .

Watch Video Solution

2x − 3y = k

k

https://dl.doubtnut.com/l/_JWAV3E9Noidc
https://dl.doubtnut.com/l/_grnxus9tgzr9


65. Give the equations of two lines passing

through (2, 14). How many more such lines are

there, and why?

Watch Video Solution

66. Solve 2x+3=3x-2 and represent the solution

on the number line.

Watch Video Solution

https://dl.doubtnut.com/l/_w3UEeYDglCdS
https://dl.doubtnut.com/l/_PdGIUp8bOdBY


67. Solve y+1=2y-1 and represent the solution

on the coordinate plane.

Watch Video Solution

68. If the point (a,2) lies on the graph of the

equations 2x=3y-8, find the value of a.

Watch Video Solution

https://dl.doubtnut.com/l/_Ptt7CNSSO9r1
https://dl.doubtnut.com/l/_tJuiZxXqYNqC


69. Write equations of three lines which pass

through (0,0)

Watch Video Solution

70. Find the value of k if x = 2, y = 1 is a solution

of the equation 2x + 3y = k.

Watch Video Solution

71. Write three solutions of x=0.

https://dl.doubtnut.com/l/_RHyT4GYhi80P
https://dl.doubtnut.com/l/_HaSke5mbf8iR
https://dl.doubtnut.com/l/_3UBIkIM92bZU


Watch Video Solution

72. For equation , verify that (3,2)

is a solution.

Watch Video Solution

6x − 5y = 8

73. Find two solutions of 3x+4y=12.

Watch Video Solution

https://dl.doubtnut.com/l/_3UBIkIM92bZU
https://dl.doubtnut.com/l/_LDRwIfXoxCR4
https://dl.doubtnut.com/l/_NSykyOE8guIS


74. Find the point, where the graph of the line

4x+3y=12 cuts the x-axis.

Watch Video Solution

75. find the point, where the graph of the line

 cuts the y-axis.

Watch Video Solution

4x + 3y = 12

https://dl.doubtnut.com/l/_Snq9plSHUBIJ
https://dl.doubtnut.com/l/_H5gsjtjvfAJY


76. How many linear equatins in x and y can be

satisfied by x=2, y=3?

Watch Video Solution

77. Find four different solutions of the

equation x + 2y = 6.

Watch Video Solution

https://dl.doubtnut.com/l/_pnloyv0q2XOz
https://dl.doubtnut.com/l/_UBSEiZszB4B3


78. Draw the graph of the linear equations

x+y=9

Watch Video Solution

79. Give the geometric representation of y=4

as equations

in one variable.

Watch Video Solution

https://dl.doubtnut.com/l/_LZ96li9lXEpf
https://dl.doubtnut.com/l/_MzVhNiVV6PeW


80. Give the geometric representation of y=4

as and equations

in two variables.

Watch Video Solution

81. Give the geometric representation of

 as an equation in one variable.

Watch Video Solution

2x + 9 = 0

https://dl.doubtnut.com/l/_WfFrigy1RXTg
https://dl.doubtnut.com/l/_tqLrGeFEn5T6


82. Give the geometric representation of

 as an equation in two variable.

Watch Video Solution

2x + 9 = 0

83. Write whether the following statement is

True or False ? Justify your answers : The point

(0, 3) lies on the graph of the linear equation

.

Watch Video Solution

3x + 4y = 12

https://dl.doubtnut.com/l/_H3FWeES5I9qW
https://dl.doubtnut.com/l/_vYm4oSBzW4aA
https://dl.doubtnut.com/l/_e0WbjCuZhEMf


84. The graph of x=-2 passes through (2,-2)

Watch Video Solution

85. The number of solutions of 2x+7=x+3 on

the number line is infinite.

Watch Video Solution

86.  is a linear equation in two

variables?

+ = 2
1

x

1

y

https://dl.doubtnut.com/l/_e0WbjCuZhEMf
https://dl.doubtnut.com/l/_0Oy4vfVOJuNf
https://dl.doubtnut.com/l/_a0v0Iif25czw


Watch Video Solution

87. The graphs of two equations x=-2 and y=3

are parallel to each other.

Watch Video Solution

88. The graph of two equations x=2 and x=-3

are parallel to each other.

Watch Video Solution

https://dl.doubtnut.com/l/_a0v0Iif25czw
https://dl.doubtnut.com/l/_rq5oQLVyTVri
https://dl.doubtnut.com/l/_H9dTGzw9oi1v
https://dl.doubtnut.com/l/_NIAKRBLZBGmO


89. The linear equations 3x+1=2 has one

solutions.

Watch Video Solution

90. The y-intercept of the line 2x+3y=4 is

Watch Video Solution

91. The x-intercept of the line 2x+3y=4 is 2.

Watch Video Solution

https://dl.doubtnut.com/l/_NIAKRBLZBGmO
https://dl.doubtnut.com/l/_sLedy1OnsP59
https://dl.doubtnut.com/l/_M7CJSsr66s6p


92. Two variables, which are directly

proportionaql to each other always give a

linear relationship.

Watch Video Solution

93. Fill ups

A linear equation is one variable

has………..solution.

Watch Video Solution

https://dl.doubtnut.com/l/_r6uyatKSpuYZ
https://dl.doubtnut.com/l/_tcrc56pjNCaD
https://dl.doubtnut.com/l/_G6qCpRsYWAeV


94. Fill ups

y=0 is the equations of…………axis.

Watch Video Solution

95. Fill ups

Any point on the line y=3 is of the

form…………………. .

Watch Video Solution

https://dl.doubtnut.com/l/_G6qCpRsYWAeV
https://dl.doubtnut.com/l/_QuV0kfxTq1Dg


96. The ordinate of any point on x-axis is

Watch Video Solution

97. Fill ups

x=0 represents …………..axis while y=0

represents…………axis.

Watch Video Solution

https://dl.doubtnut.com/l/_0NoARiB6J4RG
https://dl.doubtnut.com/l/_PUgAyEjDZ4so


98. Fill ups

Geometrical figure enclosed x-y=1 lies on all

quadrants except……………quadrant.

Watch Video Solution

99. Fill ups

Two lines represented by y=x and y=-x have a

common solution.

Watch Video Solution

https://dl.doubtnut.com/l/_UTfgCfJYUpoM
https://dl.doubtnut.com/l/_UiIGBtPERZ0H
https://dl.doubtnut.com/l/_SEjDA6IP83Y0


100. Fill ups

…………….points are sufficeints to draw a straight

line.

Watch Video Solution

101. Fill ups

Solutions of linear equations x-y=1 lies on all

quadrants except………….quadrant.

Watch Video Solution

https://dl.doubtnut.com/l/_SEjDA6IP83Y0
https://dl.doubtnut.com/l/_F1YR96mVIMp2
https://dl.doubtnut.com/l/_JxnjDXYVgWW4


102. Fill ups

The point where the graph of the lines meets

x-axis is called…………….

Watch Video Solution

103. x+2=0 is the equations of a line:

A. parallel to x-axis and passing through

(-2,0)

B. parallel to y-axis and passing through

(-2,0)

https://dl.doubtnut.com/l/_JxnjDXYVgWW4
https://dl.doubtnut.com/l/_yDE3yKawhoVb


C. parallel to y-axis and passing through

(0,-2)

D. none of these

Answer:

Watch Video Solution

104. y-3=0 is the equations of a line

A. parallel to x-axis and passing through

(3,0)

https://dl.doubtnut.com/l/_yDE3yKawhoVb
https://dl.doubtnut.com/l/_lK9JlwszzUdN


B. parallel to x-axis and passing through

(0,3)

C. parallel to y-axis and passing through

(0,4)

D. none of these

Answer:

Watch Video Solution

105. The point of the form (a, a) always lies on :

https://dl.doubtnut.com/l/_lK9JlwszzUdN
https://dl.doubtnut.com/l/_2dI4qckG2P71


A. x-axis

B. y-axis

C. the line y=x

D. the line y=-x

Answer:

Watch Video Solution

106. The linear equations 5x-3y=15 has

A. a unique solution

https://dl.doubtnut.com/l/_2dI4qckG2P71
https://dl.doubtnut.com/l/_XbPGRq7V8q6x


B. two solutions

C. infinitely many solutions

D. no solutions.

Answer:

Watch Video Solution

107. The graph of the linear equations

3x+4y=12 cuts the x-axis at the point

A. (4,0)

https://dl.doubtnut.com/l/_XbPGRq7V8q6x
https://dl.doubtnut.com/l/_xDk2m9hlBmQV


B. (0,4)

C. (0,3)

D. (3,0)

Answer:

Watch Video Solution

108. The graph of the line x=3 passes through

the point:

A. (0,3)

https://dl.doubtnut.com/l/_xDk2m9hlBmQV
https://dl.doubtnut.com/l/_BGXtcmSJhDFT


B. (0,4)

C. (0.,3)

D. None of these

Answer:

Watch Video Solution

109. The graph of the line y=-3 does not pass

through the point:

A. (2,-3)

https://dl.doubtnut.com/l/_BGXtcmSJhDFT
https://dl.doubtnut.com/l/_PEiEqgR3EGwr


B. (3,-3)

C. (0,-3)

D. (-3,2)

Answer:

Watch Video Solution

110. If the (4,19) is a solution of the equations

y=ax+3 then a=

A. 4

https://dl.doubtnut.com/l/_PEiEqgR3EGwr
https://dl.doubtnut.com/l/_spnByxuPNz3k


B. 3

C. 6

D. 5

Answer:

Watch Video Solution

111. If (k,4) lies on the graph of 3x+y=10, then

the value of k is

A. 2

https://dl.doubtnut.com/l/_spnByxuPNz3k
https://dl.doubtnut.com/l/_mgEo9GKNRDaE


B. 1

C. 3

D. 4

Answer:

Watch Video Solution

112. The graph of the linear equation 2x-y=4

cuts the x-axis at

A. (2,0)

https://dl.doubtnut.com/l/_mgEo9GKNRDaE
https://dl.doubtnut.com/l/_aRrasYQqx5OV


B. (-2,0)

C. (0,-4)

D. (0,4)

Answer:

Watch Video Solution

113. How many linear equations are satisfied by

x=3 and y=-2?

A. only one

https://dl.doubtnut.com/l/_aRrasYQqx5OV
https://dl.doubtnut.com/l/_u4vTjFpfgY3G


B. two solutions

C. three

D. infinitely many

Answer:

Watch Video Solution

114. Point  lies on the line :

A. x+2y=6

B. x+2y=-6

(4, 1)

https://dl.doubtnut.com/l/_u4vTjFpfgY3G
https://dl.doubtnut.com/l/_vyzWEQK6ZFuJ


C. x+2y=-5

D. x+2y=16

Answer:

Watch Video Solution

115. The solution of x+3=2x+1 is

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_vyzWEQK6ZFuJ
https://dl.doubtnut.com/l/_EGHx6BjJObj3


D. 4

Answer:

Watch Video Solution

116. If (2,0) is a solutio of 2x+3y=k then k is

A. 2

B. 4

C. 5

D. 6

https://dl.doubtnut.com/l/_EGHx6BjJObj3
https://dl.doubtnut.com/l/_HH5fz2gHIVuW


Answer:

Watch Video Solution

117. In graphical representation of y=-3 line is

A. parallel to x-axis

B. parallel to y-axis

C. passes through the origin

D. none of these

Answer:

https://dl.doubtnut.com/l/_HH5fz2gHIVuW
https://dl.doubtnut.com/l/_t70UHSBizWvW


Watch Video Solution

118. The graph of the linear equation 3x+2y=6

line which meets the axis at the point:

A. (0,3)

B. (2,0)

C. (2,0)

D. (3,0)

Answer:

https://dl.doubtnut.com/l/_t70UHSBizWvW
https://dl.doubtnut.com/l/_anA6CJFU5GnK


Watch Video Solution

119. The linear equation  has

A. a unique solution

B. two solutions

C. infinitely many solutions

D. no solutions.

Answer:

Watch Video Solution

2x − 5y = 7

https://dl.doubtnut.com/l/_anA6CJFU5GnK
https://dl.doubtnut.com/l/_IUApvw7tjUUr
https://dl.doubtnut.com/l/_W2LxPy7rLtVg


120. The equation  has a unique

solution, if x, y are :

A. natural numbers

B. positive real numbers

C. real numbers

D. rational numbes

Answer:

Watch Video Solution

2x + 5y = 7

https://dl.doubtnut.com/l/_W2LxPy7rLtVg
https://dl.doubtnut.com/l/_wjT6NGeSCIi9


121. If (2,0) in a solutiosn at the linear

equations 2x+3y=k that value of k is

A. 4

B. 6

C. 5

D. 2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wjT6NGeSCIi9


122. Any solution of the linear equation

 in two variables is of the

form

A. 

B. 

C. 

D. (-9,0)

Answer:

Watch Video Solution

2x + 0y + 9 = 0

( − , m)
9

2

(n, − )
9

2

(0, − )
9

2

https://dl.doubtnut.com/l/_WDbnx9v0DY0E


123. The graph of the linear equaitons 2x+3y=0

the y-axis at the point

A. (2,0)

B. (0,3)

C. (3,0)

D. (0,2)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ee8OxhSqbhRG
https://dl.doubtnut.com/l/_TUyeDLa5m4aO


124. The equation x = 7, in two variables, can be

written as

A. 1.x+1.y=7

B. 1.x+0.y=7

C. 0.x+1.y=7

D. 0.x+0.y=7

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_TUyeDLa5m4aO


125. Any point on the x-axis of the form

A. (x,y)

B. (0,y)

C. (x,0)

D. (x,x)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_4Sxlqv48n0EL


126. Any point on the liney=x is of the form

A. (a,a)

B. (0,a)

C. (a,0)

D. (a,-a)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_S5YUJybu1rxm


127. The equaion of y=6 is a line

A. parallel to x-axis at a distance 6 units

form the origin

B. parallel to y-axis at a distance 6 units

form the origin

C. making an intercept of the x-axis

D. making an intercept 6 both the axes.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WZpcvRrlhVc4


128.  is a solutioin of the linear

equatioin

A. x+2y=7

B. 5x+2y=7

C. x+y=7

D. 5x+y=7

Answer:

Watch Video Solution

x = 5, y = 2

https://dl.doubtnut.com/l/_WZpcvRrlhVc4
https://dl.doubtnut.com/l/_e7HB5hrXVfk2


129. If a linear equation has solutions

 and , then it is of the

form

A. y-x=0

B. x+y=0

C. 

D. 

Answer:

Watch Video Solution

( − 2, 2), (0, 0) (2, − 2)

−2x + y = 0

−x + 2y = 0

https://dl.doubtnut.com/l/_APQ9wcichkp0


130. The positive solutions of the equation is

 always lie in the

A. 1st quadrant

B. 2nd quadrant

C. 3rd quadrant

D. 4th quadrant

Answer:

Watch Video Solution

ax + by + c = 0

https://dl.doubtnut.com/l/_hYdaKQTgLXLn
https://dl.doubtnut.com/l/_vfiVMtdsE2Ps


131. The graph of the linear equation

 is a line which meets the x-axis at

the point

A. (0,2)

B. (2,0)

C. (3,0)

D. (0,3)

Answer:

Watch Video Solution

2x + 3y = 6

https://dl.doubtnut.com/l/_vfiVMtdsE2Ps
https://dl.doubtnut.com/l/_i6m4zTFUcmlp


132. The point of form  always lies on

the line

A. x=a

B. y=-a

C. y=x

D. x+y=0

Answer:

Watch Video Solution

(a, − a)

https://dl.doubtnut.com/l/_i6m4zTFUcmlp


133. The graph of the linear equation y = x

passes through the point

A. 

B. 

C. (1,1)

D. 

Answer:

Watch Video Solution

( , − )
3

2

3

2

(0, )
3

2

( − , )
1

2

1

2

https://dl.doubtnut.com/l/_6MAgHrCmtC4M
https://dl.doubtnut.com/l/_QEHwc4npp4Il


134. If we multiply or divide both sides of a

linear equation with a non-zero number, then

the solution of the linear equation :

A. changes

B. remains the same

C. changes in case of multiplications only

D. changes in case of division only

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QEHwc4npp4Il
https://dl.doubtnut.com/l/_JDusux1g6X7J


135. How many linear equationsin x and y can

be satisfied by x = 1 and y = 2 ?

A. only one

B. two

C. three

D. infinitely many

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JDusux1g6X7J


136. The point of the form (a, a) always lies on :

A. x-axis

B. y=axis

C. on the line y=x

D. on the line x+y=0

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FZ7EksXlxZan


137. Draw the graph of x=5y.

Watch Video Solution

138. Draw the graph of y=5x.

Watch Video Solution

139. Determine the point on the graph of the

linear equations 2x+5y=19, where ordinate is

 times the abscissa.1
1

2

https://dl.doubtnut.com/l/_p9v656F4k18S
https://dl.doubtnut.com/l/_bLZmgBGYhZlZ
https://dl.doubtnut.com/l/_bMf5oHP54KM7


Watch Video Solution

140. For what natural number c, the linear

equatins of 2x+cy=8 has equal values of x and y

for its solutions.

Watch Video Solution

141. Write four solutions for the following

equation : .

Watch Video Solution

2x + y = 7

https://dl.doubtnut.com/l/_bMf5oHP54KM7
https://dl.doubtnut.com/l/_jDElhyCvqkwy
https://dl.doubtnut.com/l/_9bsNkBxLiukF


142. Find the value of k so that x=-1, y=1 and a

solution of 9kx+12ky=63

Watch Video Solution

143. show the system of equatoins graphically

4x+3y=6, 2x-5y=16.

Watch Video Solution

https://dl.doubtnut.com/l/_9bsNkBxLiukF
https://dl.doubtnut.com/l/_IHLVDSv4ejg9
https://dl.doubtnut.com/l/_16jqQGXyYepv


144. Solve:

Watch Video Solution

+ = (2x + 1)
3x + 2

7

4(x + 1)

5

2

3

145. Draw the graph of 3x+2y=5 and x+y=2 on

the same pair of axes. Do these lines intersect?

Watch Video Solution

https://dl.doubtnut.com/l/_E7ltqhOPvMsn
https://dl.doubtnut.com/l/_0W8rKr3rVz41


146. Give the equations of two lines passing

through (2, 14). How many more such lines are

there, and why?

Watch Video Solution

147. In countries like USA and Canada,

temperature is measured in Fahrenheit,

whereas in countries like India, it is measured

in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:

https://dl.doubtnut.com/l/_OSnIgP7K3pBV
https://dl.doubtnut.com/l/_lUEtWLgj4NFV


 Draw the graph of the

linear equation above using Celsius for x-axis

and Fahrenheit for y-axis.

Watch Video Solution

F = ( )C + 32
9

5

148. In countries like the USA and Canada,

temperature is measured in Fahrenheti

whereas in countries like India it is measured

in Celsius. Here is alinear equation that

converts Fahrenheit to Celsius:


F = ( )C + 32
9

5

https://dl.doubtnut.com/l/_lUEtWLgj4NFV
https://dl.doubtnut.com/l/_FYCnwWpzlDyw


If the tempearature is , what is the

temperature in Fahrenheit?

Watch Video Solution

30∘ C

149. In countries like USA and Canada,

temperature is measured in Fahrenheit,

whereas in countries like India, it is measured

in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:

 If the temperature is ,

what is the temperature in Celsius?

F = ( )C + 32
9

5
95∘ F

https://dl.doubtnut.com/l/_FYCnwWpzlDyw
https://dl.doubtnut.com/l/_Wwv25ggXgk1L


Watch Video Solution

150. In countries like USA and Canada,

temperature is measured in Fahrenheit,

whereas in countries like India, it is measured

in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:

 If the temperature is ,

what is the temperature in Fahrenheit and if

the
 temperature is , what is the

temperature in Celsius?

Watch Video Solution

F = ( )C + 32
9

5
0∘ C

0∘ F

https://dl.doubtnut.com/l/_Wwv25ggXgk1L
https://dl.doubtnut.com/l/_zDDC0PdPQxcf


151. In countries like USA and Canada,

temperature is measured in Fahrenheit,

whereas in countries like India, it is measured

in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:

 Is there a temperature

which is numerically the same in both

Fahrenheit and
Celsius? If yes, find it.

Watch Video Solution

F = ( )C + 32
9

5

https://dl.doubtnut.com/l/_zDDC0PdPQxcf
https://dl.doubtnut.com/l/_JZEv33gfbSz5

